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SECTION |
Read the following passage carefully and answer the questions below as directed:

The structure of the feet and legs varies greatly among frog species, depending in part on whether they
live primarily on the ground, in water, in trees, or in burrows. Frogs must be able to move quickly
through their environment to catch prey and escape predators, and numerous adaptations help them
do so. Many frogs, especially those that live in water, have webbed toes. The degree to which the toess
are webbed is directly proportional to the amount of time the species lives in the water. For example,
the completely aguatic African dwarf frog {Hymenaochirus sp.), has fully webbed toes, whereas the toes
of White's tree frog (Litoria caerulea), an arboreal species, are only a half or a quarter webbed. Arboreal
frogs have “toe pads” to help grip vertical surfaces. These pads, located on the ends of the toes, do not
work by suction. Rather, the surface of the pad consists of interlocking cells, with a small gap between
adjacent celis. When the frog applies pressure to the toe pads, the interlocking cells grip irregularities an
the substrate. The small gaps between the cells drain away all but a thin layer of moisture on the pad,
and maintain a grip through capillarity. This allows the frog to grip smooth surfaces, and does not
function when the pads are excessively wet. In many arboreal frogs, a small “intercalary strueture” in
each toe increases the surface area touching the substrate. Furthermore, since hopping through trees
can be dangerous, many arboreal frogs have hip joints that allow both hopping and walking. Some frogs
that live high in trees even possess an eiaborate degree of webbing between their toes, as do aguatic
frogs. in these arboreal frogs, the webs allow the frogs to “parachute” or control their glide from one
positicn in the canopy to another. Ground-dwelling frogs generally lack the adaptations of aguatic and
arboreal frogs. Most have smaller toe pads, if any, and little webbing. Some burrowing frogs have a toe
extension- a metatarsal tubercle- that helps them to burrow. The hind legs of ground dweliers are more
muscular than those of aqueous and tree-dwelling frogs.

Choose the most appropriate alternative as your answer from the choices given against each
guestion below:
1. Frogs have to move quickly for :
A. climbing trees quickly.
B, catching preys and escaping predators.
C. looking for mates.
D. catching predators and escaping preys.
Z. The toe pads of the frogs living on trees help them to grip
A. slippery surfaces.
B. rough surfaces,
C. smooth surfaces.
‘5.3’. vertical surfaces,
3. Which of the following frogs have highly muscular hind legs?
A, Air-dwelling frogs
B. Agquatic frogs
VQ—. Ground-dwelling frogs
0. Arboreal frogs
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4. Which of following generally lack the zbility to adapt?
A, Ground-dwelling frogs.
B. Aguatic frogs.
C. Air-dwelling frogs.

5. Arboreal frogs. An arboreal frog livesin .

A, burrows,
B. air.

(- trees,

D. water.

Choose the most appropriate answer from the choices given against each question below:

6. The word ‘elaborate’ in the passage is a

A, noun.

ka.' adjective.
C. pronoun.
D. adverb.

7. Inthe passage, the meaning "adjustment to new situations’ can be attributed to the word
A. evaluation,
B. escalation.
C. evolution.
. adaptation.

Find out the part which has an error in the following sentences. If there is no error, your
answer is (D).

8. He says that a two-miles walk always keeps him healthy and fresh,
A. Hesaysthat /
B. atwo-miles walk [/
C. always keeps him healthy and fresh.
,;D' Mo error,
9. He asked me Why didn’t | join the picnic.
A. He asked me [
B Why didn't1/
C. join the picnic.
D. Noerror.
10. One of my friend is coming from Mumbai.
A, One of my friend /
B. iscoming [
C. from Mumbai.
D. MNoerror.
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14. Which number would replace the question mark?

6R% AT ggIee 52 gINea 989 ?

°pwe

Lt

32

18

48
24
28
20

Ay

15. If '+ means ‘x’';‘%x'means '='; "=’ means '+ and ‘<" means "+,

SET- B

then 8+(15-6x2)+16x4="7

96 ‘4’ @ 2d ;5 ‘e ud ‘- ‘2 aud 2 ae Yaud ‘4,

6669 8 + (15 - 6x2)+16x4= 7

&
B.
C
D

12
B4
14

. 16
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18. There is a queue against a railway ticket counter. The passenger A is 9" from the front and
another passenger B is 6th from the back. If a third passenger C is exactly in the middle of A and
B as well as 20th from the front, how many passengers are there in the queue?

CRFEFAR TERE FINYA AT APIFNER AIFea 59 c2IRed | Qe A uiGa
aIgasq ¢F QIRea AT 8 ANY 966 QIR B uFe agaeq 99 gieea 2ed |

A@ go19 @11 C O] A 6 B 0i1g aaIe 9aeisa (ad6a) e dIda t2([ala [l
9106 QIR6Q ARE, 6069 MIFER 6EIIS 6960 T4 AIG1 ALE ?
A, 49 B. 42 C. 40 D. 36

19. Which is the wrong term in the following number series?

T¢] THILAER 609 AT Q@ T ?

2,5,12,20, 30,42

A 42 B. 20 C. 12 D. 5

20. Three of the following four figures are alike in a certain way and one is different from the rest.
Which one is different?

Fggea calf SeRIee faQ §6aIF e 88a 96 anie 1e* saId
ARUARTOIQ ARG | 6RUT ARIAIRTOIQ ARG ?

A, Afp—
o —
H

B e

E—
—it
C.
D.
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31.

32.

33

ET- B

What is the best time for teaching?

A. When the teacher is ready to teach.
B. When the student is ready to learn.
C. When the subject period is there,
D. When all students are present.

dfI9Ie 89l Free ALY AFM 6RUE ?
A CHIEREDER SINQ FRNQIS FAED €YS 26D |
B. 6K606Q6R glIg dmiged Fase gge ae |
¢ 6R609696R TOB Faaas d6ae a9 |
D. GLIEPEPER 6gEI6R ANL BIe AAFS 269 |

What should a teacher say when he/she is not able to answer a student’s question?
A. "l also do not know, let’s find the solution together”.
B. “Don't be over smart, sit down".
C. "This is not related to the course”.
D. “Find the answer to the question yourself”.

6DE6GETER JUQ 6@lad 219 AT G99 LR CIRUINE FIT, 6a @@
FEQ VTS ? j

A ‘g 911 4 gela e RIE FIF, 1A Q6% A4 9 9ge 989 HFN’ |

B. ‘6961 696%a 2ARI2, @3 ¢’ |

c. ‘9@l aloyed aede ged’ |

D. ‘@671 F6 gga aaa 6HIF ale’ |

What should the teacher aim at while teaching?

A. Students memorise learning material.

B. Students understand learning material.

C. Students get good marks in examination.

0. 5Students know how to copy the learning material.

I0YLIe dFIDea SAeT gy QY @°8 629l ade 7
A. BIGAIER AIOYDY] g A |
B DIGFIER AI0IDY] €] |
C. PIBFIER AIOIDY RUER VRN FAR QN |
D. SIBFAIER ﬂlmagﬁi QeIRIcR AT g2 |
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%9. ‘@aia’ q dgaieldeae 698 @'d 7

A GQaig c. [

B. 21C1Q D, @aua
8. ‘aed’ @ AaIdeke et Ggid fa

A goa C. YRIAI

B. Qa&en D Q918
8Y. gR aAetqg 5e¢ @l

A, FlaIFIRI C. Fle|iFw

B. FIERQIAINR D. FIERIVAR!

88, ‘QI0ea a0’ g @'a ?
A. doeqqiy Sag |
B. @066 aRIQAINYLI QIO |
. U dew Faa | |
D. QIO A0 €VIF NS |

-

LAEZO02)ZA (SANTALI)

41. “Q2UARD" .29). BAEWIY B2 |
(A) E9G2R (B) WAZODZ (C) TAT2RH (D) hBUBND

42.2, D, A, 2, @ 2299 0AbA ©2 022 1D UZ0IE—D 2
(A) b222¢ 2293 (B) 02.05G b2022 2292 (C) W20P2¢ b2L2e 2)IV2
D) DN AN

43. bDARE). LGALH; RZ V20GER8E bAE 'UoR0ALA 2).38. b
DRI LRIIE WZL ALIED ?
(A) DAPA (B) L&Kb300 (C) B33b3L02 (D) 2020&323K3

4. "2 GUUHG bIE QZPOZ UARH B2ZM2 IGS £292) SIRD G2
WIRD G2” EIMZ 02082 IDAT SIRH 2 029 .29
bAE2) ?

(A) GYELE, (B) b&EZDVA (C) HAU (D) 0DEDZ
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56.

57.

S8,

59.

SET-B

A sum of money amounts to Rs 5200 in 5 years and Rs 5680 in 7 years at simple interest. What
was the rate of simple interest charged per annum?

e 749 QRuR,q0R g Faiesa 5 @dsa 5200 o= @ 7 @dsa 5680

eRIca 9866 24| 6662, QI3 AaR YA BIQ 6R6S ?

A, 3%

B, 4%

C. 5%

D. 6%
How many rupees will be the compound interest on Rs 16000 for 9 months at 20% per annum
compounded quarterly?

g-ade oe9e& qu fIeeq, 16000 cmia «i@e 20% Queesa 9 Alaq

G*QG;E‘ gel 6Ree T=l 6E 7

A, 2522

B. 2518

C. 2524

D. 2520
Which of the following ratios cannot be equal to the ratio between two natural numbers whose
sum is 327

Qe AVNIP Uuia cRAISTR 32 | 6969 AT QRF rHUNUca AR FaY

699 2QAe A2 RIS 621QABTS FIT?

A. 5:2

B. 13:3

EFE e fecs

T S |
What number must be subtracted from each ane of 21, 38, 55 and 106, so that the remainders
are proportional?

21, 38, 55 6 106, geoue eNIg 696 Y IELIS FER, ICANTS YFR

QAAIQEST 626D 7

A,
B.
s
D. B

L= T R ¥

fA=s{x|xeN andl<x=8},B={xlxeNand 5 < x< 10} ,then what is B-A equal to ?

QG A={x|xeNel<x<8},B={x|lxeNas5<x<10} gy,

coea B-A 6960 629 7

A. 12,34, 5} C. {910}
B. {2,3,4,59,10} 0. {8,910}
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